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NEW QUESTION 1
Which two actions can be repositioned in integration with Oracle Integration Cloud (OIC)?

A. Function Call
B. Switch
C. Stage File with Read File in Segments
D. Stage File

Answer: AB

NEW QUESTION 2
Which feature flag lifecycle stage includes OIC features that you can request from Oracle to be disabled within your OIC instance environment?

A. Internal Only
B. General Availability
C. Feature Controlled
D. Feature Controlled General Availability

Answer: C

NEW QUESTION 3
Which four Client Software Libraries can be used for developing applications with Oracle Internet of Things (IoT) Cloud Service?

A. C POSIX
B. Java SE
C. .NET
D. JavaScript
E. Android
F. VB Script

Answer: ABDE

NEW QUESTION 4
Which two statements are true regarding mapper activity?

A. You can drag and drop a source on to multiple targets.
B. You cannot drag and drop a source on to a target that is already mapped.
C. You can drag and drop function activity in the target.
D. You can drag and drop switcher activity in the target.

Answer: CD

NEW QUESTION 5
Oracle JCA (J2EE Connector Architecture) Adapters simplify how applications connect to each other. Which three technology adapters are supported in Oracle's
Service-Oriented Architecture (SOA) Cloud
Service?

A. Oracle JCA Adapter for Sockets
B. Oracle EBS Application Adapter
C. Oracle JCA Adapter for Files/FTP
D. Oracle JCSA Adapter for JMS

Answer: ACD

Explanation: 
https://docs.oracle.com/cd/E28280_01/integration.1111/e10231/intro.htm#TKADP112

NEW QUESTION 6
Which is a required prerequisites for API Platform Cloud Services?

A. Storage Cloud Service and Compute Cloud Service
B. Integration Cloud Service
C. Database Cloud Service (DBCS) and Storage Cloud Service
D. Java Cloud Service (JCS) and Database Cloud Service (DBCS)

Answer: ABD

Explanation: 
https://docs.oracle.com/en/cloud/paas/api-platform-cloud-um/apfad/you-begin-oracle-api-platform-cloud-service

NEW QUESTION 7
Which three options are available for Business rule conflict resolution in Process Cloud Service?

A. No Conflict
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B. Skip
C. Override
D. Escalate
E. Conflict

Answer: ACE

Explanation: 
https://docs.oracle.com/en/cloud/paas/process-cloud/user/editing-rule-and-decision-table-properties.html 

NEW QUESTION 8
During a design review of your OIC orchestration-style integration, it has been recommended that you refactor it into smaller integrations.
Which two things should you do in order to invoke the multiple integrations without needing to create explicit connections for each endpoint?

A. Import each local integration you wish to invoke into your calling integration environment.
B. Add the local-enabled flag for each integration you wish to invoke.
C. Use the local integration wizard to define each integration to be invoked.
D. Request the enablement of the oic.ics.console.integration.local.integration feature flag.
E. Build each smaller integration as a local-only integration interface.

Answer: CE

NEW QUESTION 9
Which JNDI name value must be provided when configuring the properties of a new database adapter outbound connection pool to support dependent SOA
composite applications?

A. The associated XA database adapter plan deployed with this database adapter outbound connection pool.
B. The defined XA database adapter connection factory configured for this WebLogic domain.
C. The corresponding XA enterprise resource adapter application deployed to the same WebLogic cluster.
D. The corresponding XA datasource configuration deployed to the same WebLogic cluster.

Answer: C

NEW QUESTION 10
Which two are NOT default start and end events in Process Cloud Service?

A. Folder start and None end event
B. SOAP start and SOAP end event
C. None start and end event
D. Task start and end event

Answer: BD

Explanation: 
https://docs.oracle.com/en/cloud/paas/process-cloud/user/defining-process-start-and-end.html#GUID-E3E20D7

NEW QUESTION 10
What Mapper function can you use to get the lookup value in Mapping Builder?

A. GetLookupValue
B. FindLookupValue
C. LookupValue
D. SearchLookupValue

Answer: C

NEW QUESTION 12
Which Enterprise Application System can be integrated with Oracle Internet of Things (IoT) Cloud Service?

A. any system capable of receiving HTTP connections or making HTTP requests
B. only systems which are deployed on Windows or Unix platform
C. a system which exposes REST Service
D. a system which exposes WSDL

Answer: C

Explanation: 
https://docs.oracle.com/en/cloud/paas/iot-cloud/iotgs/integrating-oracle-integration-cloud-service-oracle-iot-clou

NEW QUESTION 16
Which is NOT an activity that an Application Developer (API Consumer) can perform in the Developer Portal in Integration API Platform Cloud Service?

A. Learn about APIs
B. Subscribe to a plan
C. Create an API
D. Test an API
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E. Create Application
F. Monitor performance

Answer: F

Explanation: 
https://docs.oracle.com/en/cloud/paas/api-platform-cloud/apfdv/typical-workflow-consuming-apis.html#GUID-0

NEW QUESTION 18
Assuming that a particular user possesses the "Deploy to Gateway" grant, what grants on an API are required in order to deploy that API?

A. Manage API or Deploy API
B. Manage API
C. Entitle API
D. View all Details and Deploy API

Answer: A

NEW QUESTION 19
Which two are types of style patterns available while creating integration with Oracle Integration Cloud (OIC)?

A. Notification
B. Metadata
C. Orchestration
D. Map Data

Answer: CD

Explanation: 
https://docs.oracle.com/en/cloud/paas/integration-cloud-service/icsug/creating-integrations.html#GUID-FC613C

NEW QUESTION 20
Which three are characteristics of Device Virtualization?

A. Oracle Internet of Things (IoT) Cloud Service does not support Device Virtualization.
B. You can monitor each device endpoint's health, performance, and location via the client software library API or with REST calls made to those devices.
C. You can collect data from your devices using APIs delivered with Oracle Internet of Things (IoT) Cloud Service Client Software Libraries or Oracle IoT Cloud
Service Gateway.
D. The APIs provided enable you to send telemetry messages and device data from your devices to Oracle Internet of Things (IoT) Cloud Service, control your
devices, and deploy applications to your gateway devices.
E. Devices used are not rea
F. They are virtual devices and linked with Oracle Internet of Things (IoT) CS.

Answer: BCD

NEW QUESTION 24
Which Process type should you choose to model non-sequential process type in Oracle Integration Cloud (OIC)?

A. Adaptive Case Management process
B. Structured Process
C. Dynamic process
D. Unstructured Process

Answer: C

Explanation: 
https://docs.oracle.com/en/cloud/paas/integration-cloud/user-processes/using-processes-oracle-integration-cloud

NEW QUESTION 29
Which expression can you use to schedule integration runs?

A. a XPATH
B. an iCal
C. a JavaScript
D. a XSLT

Answer: B

Explanation: 
https://docs.oracle.com/cloud/previous/intcs_gs/ICSUG/GUID-622B74FE-D9EC-4A62-8DF1-1E96912C8FB8.

NEW QUESTION 31
What are the two types of analytics processors in Oracle Internet of Things (IoT) Cloud Service?

A. Batch Analytics Processors
B. Natural Analytics Processors
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C. Static Analytics Processors
D. streaming Analytics Processors

Answer: AD

Explanation: 
https://docs.oracle.com/en/cloud/paas/iot-cloud/iotgs/understanding-analytics-processors.html he type of analytics processor to use depends on the nature of your
data:

 Streaming Analytics Processors
Use streaming analytics processors to analyze high volumes of rapidly changing data streamed from your sensors and devices. Streaming analytics processors
are continuously running from the moment you deploy them, waiting for your devices to stream data.
See Creating Streaming Analytics Processors.

 Batch Analytics Processors
Use batch analytics processors to analyze large volumes of batch data. Typically, batch analytics processors process data stored in the Oracle NoSQL or other
data sources. Unlike streaming analytics processors they are not continuously running, they only run when you call them using the REST API they expose.

NEW QUESTION 36
Which two are ways Business Rules can be modeled in Process Cloud Service (PCS)?

A. using Oracle Business Rules Editor
B. using OIC Rule Editor
C. using BPM Rule Editor
D. using Decision Model Editor

Answer: AD

Explanation: 
https://docs.oracle.com/en/cloud/paas/process-cloud/user/creating-business-rules.html

NEW QUESTION 41
What options are available for Escalation and Expiration of human tasks in Process Cloud Service?

A. Escalate, Restart, Next or Previous
B. Renew, start, end, or error
C. Never Escalate, Skip, hierarchy, or New
D. Never expire, Expire, Renew, or Escalate

Answer: D

Explanation: 
Configuring Task Expiration, Renewal, or Escalation
You can configure a human task to never expire, to expire after a certain time, to renew the expiration time, or to escalate after a certain time passes.
To configure an action to perform on a specific deadline:

 Click the Escalation and Expiration
tab on the implementation pane.
The Escalation and Expiration tab appears.

 Use the radio buttons to specify if you want the human task to Never expire, Expire, Renew, or
Escalate.

 Never expire: the human task doesn’t expire and if no user completes it, it remains in the users task list for an indeterminate period of time.

 Expire: the human task expires after the specified time and is no longer accessible from the task list.

 Renew: when the specified time passes, the expiration date is extended for one more period until it reaches the specified amount of renewals allowed.

 Escalate: when the specified time passes, the human task is escalated to the specified escalation levels.
https://docs.oracle.com/en/cloud/paas/process-cloud/user/configuring-human-tasks.html#GUID-3869867C-45A

NEW QUESTION 45
Oracle Application Adapters in Service-Oriented Architecture Cloud Service (SOA CS) can connect to on-Premise systems. What are 2 key elements that you
need to review in this architecture?

A. Account for network connectivity and latency sensitivity to the on-premise application in the architecture.
B. Ensure that Oracle Support Notes for a hybrid cloud architecture with that application are reviewed and supported.
C. Design a load balancer solution for connectivity.
D. The DMZ needs to open port 80 for proper connectivity.

Answer: AC

NEW QUESTION 50
You have been tasked with provisioning a Managed File Transfer (MFT) Cloud Service on Oracle Cloud Infrastructure (OCI).
Which of provisioning requirement is NOT valid?

A. You are required to obtain an authentication token for an Object Storage bucket within an accessible OCI compartment.
B. You can use any Oracle Database instance running in either OCI or OCI Classic.
C. You must create a Virtual Cloud Network in OCI with at least two subnets.
D. Provisioning MFT requires creating a SOA Cloud Service instance in OCI choosing "MFT Cluster" as a service type.
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Answer: C

NEW QUESTION 51
Which two statements are true about Internet of Things (IoT)?

A. Different IOT approaches need to be established integrate different technologies such as mobile, cloud, big data, and analytics, and connects everyday objects
to each other and to the Internet.
B. Cloud technology is well suited to enable IoT, offering high degrees of agility, low and flexible costs, and excellent resource utilization.
C. Using IoT, hospitality-based businesses can better track customer behavior and preferences to deliver rewards and more tailored services that differentiate their
businesses.
D. IOT is not useful in asset tracking scenarios because there is an unavailability of low-cost connected devices and sensors that can be embedded into all of the
various assets that need tracking.

Answer: AB

Explanation: 
https://www.oracle.com/assets/oracle-iot-solution-brief-2632911-es.pdf

NEW QUESTION 53
Which two are On-prem Connectivity Options with Oracle Integration Cloud (OIC)?

A. VPN
B. Connectivity Agent
C. PaaS Agent
D. Execution Agent

Answer: BC

Explanation: 
https://blogs.oracle.com/soaproactive/announcing-oracle-integration-cloud-oic

NEW QUESTION 56
Which is NOT a valid service provided by Oracle Enterprise Scheduler Service (ESS)?

A. running Java, PL/SQL, and binary script jobs
B. invoking jobs on external On-Prem and SaaS applications as scheduled on the Oracle Enterprise Scheduler
C. configurable to allow or restrict running multiple job requests associated with a single job definition concurrently
D. distributing job-request processing across a grid of application servers
E. invoking jobs on external On-Prem and SaaS applications as scheduled on the those Schedulers

Answer: B

NEW QUESTION 59
When a connection is in edit mode and the browser crashes, the connection becomes locked, which then prevents it from being edited. Which two users can
unlock the connection?

A. a user with the Designer Role
B. the same user who has edited the connection
C. any user
D. a user with the Administrator Role

Answer: BD

Explanation: 
https://docs.oracle.com/en/cloud/paas/integration-cloud-service/icsug/creating-connections.html#GUID-085410 Unlocking a Connection
When a connection is in edit mode and the browser crashes, the connection becomes locked, which prevents it from being edited.
To unlock the connection:

 Log in again as the same user who was editing the connection when the browser crashed, then log out. For example, if you were logged in as icsdeveloper
when the browser crashed, log in again as icsdeveloper,
and log out. This action unlocks the connection.
or

 Log in as a user with the Administrators role.

 On the Oracle Integration Cloud Service home page, click Cthoennections
diagram.

 For the connection that is locked, click the menu at the far right, then selUecntlock.

NEW QUESTION 62
......
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